Name Date
uiz: Trigonometric Funhctions
Given: cosb = (8/10), > Given: tan® = (12/5),
1
Find: secO Find: tan©.secHb
, Siven: siné = (15/17), Given: cot® = (12/16),
4
Find: tan® Find: secB.coth
F;nd to the n%arest degree,
the measure of an acute . . _
5 angle formed by the x-axis 6 §1:§?'c32229_ (77253,
and the 1ine containing the 1 "
points (4,7) and (8,5).
Given: secb = (26/10), . Given: cosecB = (41/9),
7
Find: (tanB/cosecH) Find: tan®
Find to the nearest degree, the
Given: cotb = (20/21), measure of an acute angle formed by
9 10 the x-axis and the 1ine containing
Find: secB.cot® the points (7,2) and (5,1).
Circle # Correct 0 1 2 3 5 6 7 8 9 10
Percentage Score 0% 10% | 20% 30% 40% 50% 60% 70% 80% 90% | 100%
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